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t}& I3 2ol AB = AC, CB = CE ¢l o] 5 A7
/A = 40°, /ACE = /DCE & uf, /x 2] 322

D 22.5° @ 25° ®)27.5° @ 30° ® 32.5°

AABC 7} o]l 5 ¥ Ztgol B2

(ABC = /ACB (180° — 40°) = 70°

T2
T3 /ACE = /DCE = %(180° - 70°) = 55°
ABCE 7} CB = CE ¢! o584 0|1 /BCE = 70°+55° =
125°
SoLx = 1(180° - /BCE)
= 5 (180° - 125°)
= 27.5°
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AB = AC ¢l °]5¥42H ABC oA 2x & 2717
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@® 35° 2)40° ® 45° @ 50° ® 55°
S8

APHC oA 9r&2]Z+9] g4 o5 .CPH = 40°

w2tA /PHC = /CPH + /C o] B2

90° = 40° + /C

. LC = 50°

zBAC = /x + 40° |11 AABC 7} o] 5H¥AZIg ol 2R /B =

£C = 50°
A2 UZh] oF2 180° o] B2
180° = /BAC + /B + £C

= (Lx+40°) + 2£C

= /x+40° + 100°

= /x+ 140°

coLx = 40°




